

6333- 8p 4p 2

• Consider $-\lambda \phi = \phi_{xx}$ $\phi(0) = \phi(L) = 0$

$$\phi m \frac{\partial u}{\partial t} = k \phi m \frac{\partial^2 u}{\partial x^2}$$

$$\phi_M \frac{\partial u}{\partial t} = -\kappa \nabla_M \phi_M u - \kappa \frac{\partial}{\partial x} \left(u \frac{\partial \phi_M}{\partial x} - \phi_M \frac{\partial u}{\partial x} \right)$$

- Apply $\int_0^h -dx$

$$U_m' = -k\lambda_m U_m - \frac{\partial K}{\partial L} \left(\frac{M\pi}{L} \right) (B(-1)^m - A)$$

$$u_n(\sigma) = c_n - \frac{2}{\sigma\pi} (B(-i\sigma) - A) = F_n$$

$$C_n = F_n + \frac{2}{\pi n} (B(-1)^n - A)$$

$$u(x,t) = \sum_{n=1}^{\infty} \left[\left(F_n + \frac{2}{n\pi} (B(-1)^n - A) \right) e^{-k\lambda n^2 t} - \frac{2}{n\pi} (B(-1)^n - A) \right] \sin \frac{n\pi}{L} x$$